Math 53 Quiz 10
April 19, 2017

This quiz will be graded out of 10 points, with individual questions weighted as Gndicated) N
calculators, please! Please read the instructions carefully, and explain your work

Problem 1. (3 points) Evaluate the line integral
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Problem 2. (3 points) Determine whether the vector field
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is conservative.
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Problem 3. (4 points) Use the fundamental theorem of line integrals to evaluate f.F - dr, where
F =(lny+cosz,z/y)

and C is the curve parametrized by r(t) = (mt?,2t + 1) for 0 < ¢t < 1.
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